‘3 é
%@&;

- f a
i’,

INSERTING MISSING @‘

CHARACTER Y
PART-2

A/




Q14.FIND THE MISSING TERM ?

o 3S ¢ 377_‘ = S
W% 3? 32 CS:D 35 +3L
B) 41 - — @
C) 42 @ 18 | 37
)8 > e
Lefl ¢ Kant

LY




Q15.FIND THE MISSING TERM ?

A) 52

B)54 |

\

C)55
D) 56

10

X

[

it

159 5
s

©)

21

J
153

56

\O)ﬂ |

(s~

44
SS




Q16.FIND THE MISSING TERM ? <2y

43 —
A) 6161 3) (324
B)5878 | o5 ® @ (24

c)s%g.%jﬂ £ V4 4 |/84
kil Rer g s N O S O
—
ERIAEE S
S 9 X9 XX

— _ X3+
g K3 R3IKZL 2K L = 6x 673

N




Q1/7.FIND THE MISSING TERM ?

AT
2

o —
Ny | 1349 | @
B)5 ©“ .
C) 21 9 | 17| 69
D) 10 13 | 11 | 59




Q18.FIND THE MISSING TERM ?

A) 16 «—
B) 13

C) 15
D)9




Q19.FIND THE MISSING TERM ?

A) 68
B) 72
C) 64 7
D) 76




Q20.FIND THE MISSING -[ERM ?
‘Cil, ﬁ@ﬁm/ Oel o

A[4S—T 7 |18 27| *ets

2 gy dse-

D) 36 11 [ 36 | 2.+ —
— ux; + ¢ g
3
[1%3 T@ [t fﬂ)@/
@ o




Q21.FIND THE MISSING TERM ?

A)4
B)5
C)3
D)9




Q22.FIND THE MISSING TERM ?

A) 12

©

&y,

o)

Te—

6/




Q23.FIND THE MISSING TERM ?

A) 22
B) 56

C) 10—
D) 32




Q24.FIND THE MISSING TERM ?
+ - Y9z Y

1 9K {36
on | LS G

C) 64 J 1 52 | 94 | 46

D) 42 10 | 36 | ?

(D (- O




